e=(el+el)/ el

E=(-4*Br*3*Rk*Uk*C*P*{(1 21 *Fh* X+ Wk “2*C*Eb* Tu/(2*Br *5 *Ri)) -
484 * U*Bet *Rk "2 * X *Br* S *P-121 *Bet"2*Rk "2 ¥ X "2*Fb* Uk * Tu) /(2 *Er*
S¥Rk* (121 *M-Uk*C*Rb/RK)"2+242*U"2*Rb*Er*3)

=R Uk 2 *CA2F*F P2 *Br* SRk + 242 ¥ Bet "2 ¥Rk IFH 2T Br 3 YR/ (2F
Br*8*Rk* (121 *M-Uk*C*Eb/RK)"2+242*U2*Rb*Br*3)

R=(3*(2*d*t-8*2)-2%e )/ 24

N=(2*d*t-8*)%¥e/48+(z*(4¥e-d"2)-t*/8-e"3/108

N2=®M/2D"2

Ri3=Abs(R/3)"3

If N2 >Bk3 Then GoTo 13

GoTo 3

BE=(N/2+({(N/ D" 2+R/ D H A/ 2D+ N/ 2- (N D)2+ RID DT
(1/2n"(1/3)

y=0G+el6

A=(3*y+d"2-4%e)*(1/2)

Bkl={d+A)/2

Bld=(d-4)/2

Ckl=y+(d*y-t)/ A

Cl2=y- @*y-0/A

DIS1=Bk1~2-4*Ckl

DIs2=Bk2"2-4*Ck2

Wik3=Bl2/ 2+ (D) ~(1/ D)/ 2

Whd =-Bi2/2- (DIS) ~(1/2)/2

Whi=(121 * W32 *M+1A* W3 *Rb* X +Uk*2*C*Fb* W3 * Tu/ (2 *Br * §
*Ri)-Uk*C*Wk3~2*Rb/Rk-Uk*C*P)/ (1.1 * (Wi3 *U-Bet * Rk * X))

Whd=(121*Wid *“2*M+121 * Wkd*Rb* X +Uk"2*C *Fb* Wkd * Tu/(2*Br*§
*RE)-Uk*C*Wki“2*Rb/Rk-Uk*C*P)/ (1.1 * (Whd *U-Bet * Rk * X))

Top=(2*Br*53/L)*(Wb3 ~2/Rb+Wk3 “2/Rk+Wv"2/Rv+ Wem 2 /Rem) +23
Bs * (Atn(Br/ Be)) / Rm)/ (Wk3 * Uk) /(L *Rk) -Hs * (1 +q))

Topd=(2*Br*3/L)*(Wbd"2/Rb + Wk4 ~2/Rk +Wv ~2/Rv + Wem* 2/ Rem) +2 *
Bs * (Atn(Br/ Be)) / Rm)/ (Wkd * Uk) /(L *RE)-H= * (1 +qi)

Wh=Wk3

Wb =Wb3

Waml =Nzm * Wi3

If Abs(Wem - Wsml) <=3 Then GoTo 13

If Wsm - Wam1 >0 Then GoTo 14

Wam =Wsm+3

14 Wem =Wam- 3

Uvk=Tk- Bk * (Uk/Rk-Hs * (1 +q) *L/Wk3)
Uvem =(Wsm [ Wk3) * Uvk

Nsb=Wb3 / Wam

Rsb=Rb/ MNsb"2

Nev=Wv/ Wsm

Rsv=Rv/Nev "2

Nk =Wk3/ Wsm

Rsk=Rk/ MNek"2

Bsm = (Esm +Uvesm)/ (Ham * L/ Wem + Ussm / Bsb + Uvsm / Bav + Uvsm /[ Rsk)
GoTo 11

15 Wyl =M * WIS



